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Date Interpretation Bar Graph Questions for SSC Exams. 

DI Bar Chart Quiz 8 

Directions: Study the following graph carefully and answer the questions. 
 

Percentage share of goods transported through Air, Road, Rail and Sea in five countries: India, China, Korea, 

Japan, Iran. 

Given the total weight of goods transported in the 5 countries in a year are.  

1086, 3140, 1855, 2360 and 1465 thousand tonnes respectively.  

 
 

1. Which country transported the maximum quantity of goods by road? 

A. China  B. Korea  C. Iran   D. Japan   
 

2. Which country transported the maximum quantity of goods by Air? 

A. China  B. Korea  C. Iran   D. Japan 
 

3. Which country transported the minimum quantity of goods by Sea? 

A. Iran   B. Japan  C. India  D. Korea 
 
 
 

 

Correct Answers: 

1 2 3 

C D C 



 

 

 Explanations: 

1.  Transport of goods by road: 
 

India =  
1086 × 30 

  
100 

 
= 325.8 thousand tonnes 
 

Iran =  
1465 × 50 

  
100 

 
= 732.5 thousand tonnes 
 
Hence, option C is correct. 
 
 

2.  Transport of goods by air: 

 

Japan =  
2360 × 60 

  
100 

 
= 1416 thousand tonnes. 
 
Hence, option D is correct. 
 
 

3.  Transport of minimum goods by sea: 
 

India =  
1855 × 10 

  
100 

 

= 185.5 thousand tonnes 

 

Hence, option C is correct. 
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